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bafobdml gmbgombofigdal Bgregase s@dmbggéam 3shBo asgtdaaame dsgby Bogooghadsms
sbae6080  aebbobgagmes  sbgsmBol  FsbBmgdol  patamdtiogo  dgmerogol  Lagndzgmby
Losbgsto8m  dgomegdol  ae8mgpbgdoo s Lafa@dmb  Bogh  efmegdymo 0bggmedaz00ls
gomgomolifobgdom.  sbastado Buermmgdgmos  LeFe@Bml  dsJlodsgono psz00mgzols
Jotrimdgdobmgals.

Lofetdoesd  asptizgamo, sBImbgghagmo  Jsghol dofomso  ©33sd0bdnegdgmo
Bogmogndgdos: séamergobamo 3960, 398960l 3B3go, sbmgol  mgebao, BobBotrgebao s
Bt BoAysmdargdo.

s) 33369 Bogmoghgdsms  gagédzggel  $bastado DC-117-2K  Bodol  sbggsmhdgdmbol
w3bawaatol LsBGmdo pomogsb (3986439308 Fgotrem a-1)

DC-117-2K  #o3ol  sbgomdgdmbol  msbsmgsio  spda@gomoes  dh3@ols Ladbasgqbmdosbo
3985 d56n dmGgmdagmmdgdoon: _

I Laggbméo —3ofpsdoo pabgdel @ghdgmo 0geeemba (D-70033) g0dncmden 40%;

II Lagggbméro — xaanco ogmmbo (4 @omo) UMO-40 gaadynemdon 95%.

I Loggbgdo — sGEydec-abgd3omme JBgregdol Lggmo  3H3gthresdgde  gBgddacmdon
65%.

sbgoo 30drgghcndon Rstomo 3s8f8ghro dnfygmdamamdgdel xsdymo 1535 gemds 0fogds:

Nysa=100 x [1-(1-1,/100) x (1-1,/100) x (1-1;/100)] % =

100 x [1—(1-40/100) x (1-95/100) x (1-65/100)] % = 98,95 %

DC-117-2K  $odab  sligomhdgdmbols wbopgstabmgol  FoMdsgemm  s0Mdde  3BH3Gob
4603968 Ga0s  3ofdgbrosdmg Bgompgdl 64 3/33-11 bogme 20536030308 Fyetol  gedmbsbgmamansh
5063396656930 doggmmds  dgowanbl 33 83/V3-11. 35806 GodmgdBomo 3Bzl Lsghom
Gompgbeds 30§ 3gbrsdrg Bomo ogbgds:

Mzg,. = 64 X 3,3 = 211,2 3/§8-ob.

3B3t0l Gemegbmds 308G dgbe 3§ ymdormdgdBo gegmol dgdmgy Hmemo 0g6gds:

I Lagggbéol asgmol Bgdga: Mag, = 211,2 x 0,6 = 126,72 /8

II Laggbydol gogmol 38002 Ma(!)a-= 126,72 x 0,05 = 6,336 »/{9d

[T Vagggbptrobs aogemols I99c00a: M%3_=6,336 x 0,35 = 2,218y4/§9

306s0@s6  Gmonhae slggamBdgymbols bapgstol  39Bsmdals baba@dmogmds  Bgewaghl
1600 Lssol, s3om3 Femogdoe 3956 J3gnmo 3Bat0l Gomrgbmds oo oJ6gdo:

Gagg. = 2,218 x 1600 x 3600/10°6 = 12,776 &/§geo

LeBGmd B 0Byt o Bsbamndol  aslsBBmds Lomdml  Fystmp  asdmoygbyds
figdiogo o0, Gedmals Bago 1 mbs Sbompdgesty Bpwaghl Bpueacf 14 F1. o



3egoogegolifobgde, 63 Geoms a33cmbsdgzgd0 SbgammBol doJbodsgmgdo GompEgbmds Bgemaqbl
57600 @bk, 35806 d7693¢0z0 so6ol Geondo bsdgo Homo 069> 806400 33-ob.

1000 & dmbgdcogo  sotol  fgobsb 383mligggemBo  gedmogmegs 0,0036 @ obeBob
womgboga, 0,0089 B BobTotrgebzo o 2.0 @mbs 6sbBotrcmtrgebao[4], s3omd Bsmo Fmoygco
35863303000 oo ofbgd:

Gnoz = 0,0036 x 806,400 = 2,903 @#/fgmo

Geo= 0,0089 x 806,400 = 7.177 &/fgmeo

Geoz= 2.0 x 806,400 = 1612.800 @/fgmo

bogoer Godndo 200t J393000 Hoewo agbgds:
Mnoz2 = 2,903 x 106/1600 x 3600 = 0,5040 »/§3
Mco = 7177 x 10%/1600 x 3600 = 1,24600 »/§3

' 3)  BabBotfysmdsegdol gemthigagol 6336080 dofhndlsgegeresd (395369339308 Fgoter 3-2)

1ofodm  Fomofoedo  dmobds@l 3226 Embs  doghydb. domdo  obsbgds 600  Bmbs
Bogomdal Lazegde, sy oo (3bgmomgds Bobgdol LaBmsmgdoo gmgd®Gmgbyhaool batixby
dob obyger Brpamdsmgmdsdo 9 bérmbagmlagmega.

dogymBLsegomsb  dogdol smbogmodol  bodxby 3ot I3game BabBotFysmdagdols
GomEgbmds 0s63960Tgs gmGIPmoon!

M=2.52xV,,, XPs(38)XMX (K ox K )X K XK x(1-n)/(1 0°x3600) /3.

Vi — Gmol 306333mmdsdo bagagdo Babbldzemo doghdol Gommgbmdss @s dowas 3226
8/ gm0

Ps(38) — doBmdal Baypgo mBojmol §bggss 380C Byd3gcsymcsty, 33s;

My - o8l mGmdmols BmmggnmyGo 8sbss, 3/dmmo;

Ko s Ko _ Logsgol sofomo bogéal  gmggopoghgdos dgbsdsdobse  Frmob g39maby
(og0 ©s mdogmo Lybmbabogol;

K¢ _ gmag0309680s, “Hm3gmo(s Q.samdongab-acgm doymdol baggo mendmol bygebs ©s
Lagzeg0l dermbgemmdatby;

K, _ gmagoiogbidos, Gedgmoy 00 gsmolfobgdl bagegol  Bodboga® soFnegomedsl ©s
0Ju3emedsool Gggodl;

N — 409806096808, Godgmon  omgsmolfebgdl  Lazsgol 306Es3F9®  dmgmdogmmdols
95893BnG@dsL (0,70 - 0,90). somps33gt0 3emfgmdagmmdols 1mbgnmdols F980bgg3e80 M = 0.

bgdmombodbem geoédnmsedo gdogsemo bogawggdol 3603369mmdgdo sopgds
sbgormBdgBmbols  Fa@dmgdol  watamdtingo 3oeogob[8] osbabdse  (3bMomyGo  Bmbs3gdgdel
Laggmdzgmby. .

Ps(3g) somgds doddol mymommal 930336 pte $ddgdegtol dobjrgoo:

tain = temmef. T (hogromsdn. — tmq‘,ﬁ-_)/s,S = 225+(360-225)/8,8 = 2400C

by = 2400C 8608369mmdolsl  Pgi3g) = 0,175 3



[ —— 2250C 360936gmmdobolb My = 176 3/3mgmo

K o8 Ky 3ogg0p006@gd0 somgds  doghmdol boggho mGajmol §bggol  Psigy s
Ls(35380 domdol $gd3gMencal dobgrgon Bglsdsdobse Fmol gggmaby ogo 9d3bo mgols (tUOC)
ws Gemol gzgmeby mdogmo gdgbo mgobogol (t,,°C):

ty = Kigt Koy ty, +K3 X tyamy (°C) =

=16 +01x19 + 0,7 x8 = 57,79°C

tw = Ka[Kion+ KooaX tyon) + KzmX tianm)] (°C) =

= 1,29[0,4 + (0,05 x16,2) + (0,83 x 80)] = 87,220C

Ks— gmodsgyn® bembaty sdm goegdamo  3mgz03056B0s s Bmeos

1,29-0b.

Bong B Gomad — Ubd3s380 dohmdol LaBmsme  $933gMHsgtgdos Bglsdsdolse Feol
430m2ob) gogo gdgbe gl s femol gaomety mdomo ggbo ogologel.

t, = 57,790C Bo336gmedolst Ky = 3,918

ts = 87,220C 3603g69mmdolisl Ky = 21,862

K¢ gm980300680 somgds  doghpdol Boxghe oémjmol §6az0l Pyagy = 0,175 33s o
Loogol  Gmopto  3Gmbgemmdal  dobgmzom.  bsggezol  Gemom@o  d¢mbzsmmds, Gerdamas
Fodmsmagbl  Lszsgdo  GmonMsm  dmbggetomo  doBmdol  Gemegbmdol  gomEmdsl  Lagsgol
3or(yemdabosb, Bemmas 3226/600=5,4. 3:806 Kg= 1,26 [8, gbéomo 23] K= 1L

§m39mogy  bglmembodbmmal  gomgemobfobgdom,  gegtidsgmer  6sbBad{gemdspadols
GmEgbmds Houmo ofbgds:

Mg =2-52XV 306, XP5(38) XM (K 5 HK s XK XK, x(1-1)/(10°x3600)=

=2.52x3226x0.175x176x(3.918+21.862)x1.26x1.1x(1-0)/(10°x3600)=0.0025 »/§3.
G-aas\,ba‘,=0.0025x3600x1600X104"=0.014 &/Fgmo.

- 3) dsgby  bogmoghgdsms  3sAd3ggel 3636080 dogmdol  LabstBo G bgGgmeegdowsb
(3336d3gael Fgscer 3-3)

doyndals Labomd 69b9637969380 doynde  (3bgmgds dnbgdtogo  sotols botigdyg, G@3mal
bstigo Booabl 40 33/uo-Bo. Fomofagdo 1600 Lssmol 37Bsmdal 3ohmdgdoliogol 39b9d0g0
sotol Fmonéo batigo Bgowagbl 64000 Bmbsb.

1000 &3 d9690030  sa0l  Faobsl 3B ImlgggemBo 3%dmagmezs  0,0036 @  sBmBol
goofbogo, 0,0089 @ 6sbBatrgebzo s 2.0 Hebs babdotdmeygsbao[4], sagmd dsmo Femomeo
3386d3030% Gz obgde:

Groz =0,0036 x 64.000 = 0.230 @/Fgmo

Gco=0,0089 x 64.000 = 0.570 #/Fgmo

Geoz=2.0 x 64.000 = 128.000 @/Foemo

b Gadgto geg@dzgzgde Hmmo ogbgds:

Mnoz = 0.230 x 1091600 x 3600 = 0,040 /58

Mco = 0.570 x 105/1600 x 3600 = 0.0989 3/a



doghydol  Lobe®d Gnbgtrgmetigdost  asgh i3 BsbBomfgemdargdol  Mommgbmds
0sba60893s  gmG3mon:

M= qxVx W% Wg2 x3,6 x106  3/§3,

bogesy

q— 399mbsdmemds soMgddo BabBatgemdsmadols Lsfgobo 3mb39bBHa30ss, 33/3%;

V — a8fmgo 396@omsgmeab 3G s613ergdmnrcdas, 33/ von;

Wy s W5 —o36g3s80b @odonto s 6mdabsmybo 3FsMBmngdemyhemdss, &/ bo.

ofsédel Jobmdgdobongel q = 217 3y/3% V = 6400 8%/ko; Wy = 28/bo; W = 2/bon;

b98momboB6nee  dmba(3gdgdol aomgamalfobgdon  eptizonm 6o gamdaegdols
Gompgbmds Homo ogbgde:

M= 217 x 6400 x 4/(4 x 3,6 x106)= 0,386 3/{3

G= 0,386 x 1600 x 3600/10% = 2.223 #/fgmo

©) 33369 Bogmoghgdsos as@d3agel sbastado Lsggedgesb (39530339308 Fgstem 3-4)

LsJ308980  Lsfgegem 398moygbgds 3(30693ma0tEmzsbo dsbgmo, Gedmol  batxo Losmdo
Fporagl 40 3L, Lojgedol FogmofoBo 1600 Losmolb dBsmdol  3oGmdgdobongel  SbpdGogo
so6ol Gmonto botgo Bgemagbl 64000 Embsb.

1000 3 dubpGogo sotal  Ggobsl  sEBmbggHmBo  gedmogmes 0,0036 & obmgol
pomboa, 0,0089 @ 6GsbBatrgebzo o 2.0 Hebs BobBotiertrgsbao[4], sdahmd Bsoo Femonco
3586J3030%0 Hogo abgds:

Gnoz2 = 0,0036 x 64.000 = 0.230 B/Fgmo

Gco=0,0089 x 64.000 = 0.570 @/Fgmo

Gco2=2.0 x 64.000 = 128.000 @/§gmo

oo Godg@o gom@zasede Gemo oogds:
Moz = 0.230 x 106/1600 x 3600 = 0,040 a/§3
Mco = 0.570 x 106/1600 x 3600 = 0.0989 2/§3

). 8336y Gogmoghgdems gemiigggol  s6360de Ladlbzégze wsbspastomst  (3egtdzazel
Fgs6e 3-5)

bofomdmBo  Bedzogmmgds  abgdgmme  Bsbamadol (J308s, mecmo) mExgGse  dbbgGggs
bggmo dgompon. Lggme obgdgmmo dsbsmgdol doGggmaepo s dgmesme Fbbgegzolsl mommgne
sdlbghggm  Bobsby  oBBmlggemm  Jsg®Bo  gedmogmags  0,00933 83y  [4].  3sTab
s$dobggegm dsghde Fmogher 3956 377mo 38360l Gempgbads Bomo ofbgds:
Gag, = 71050 x 0,009/103 = 0,639 #/Fgmo
bogme Godgmo asnédzagol Gsmpgbmds Hemo ofbgds:
Mg, = 0,639 x 106/1600 x 3600 = 0,111 3/f8-ob.



3)- 3zl 3eghiizazel  sbastoBo  obgigme  Asbimpdol  sgBemcgomdimymgdoresh
Bsdmymol s 39639680 Baghob segompdogsh (3sg@d3a30l Fgatm 3-6)
06O mmo dsbagogdals (dg%'g\.f RO6Ro) sgmngendmmadorst RsBmmol ©s 37639630
Bogobsl godmgmggomo B30l Gompgbmds 03635608988 gmGdnmon:
Mg, = K; x Kz x K3 x K4 x K5 x KyxGxBx 105 /3600 /3,
bosgy
K, - 3sbsmsdo dB300L gsjiaal Fomas;
K, - 38360l dmmosbo 3sbosb sgémbormBo aspslygmo 33360l Gogmas;
Ky - 38360b Gotrdmgdbeby Jotol LoBjsrol asgmaboli dsbsliosmgdgemo 3095030968)05;
Ky - 39698y Bgdmdgmndolisgsb LaGymdol ps3g00mbs6036mdal 8sbsbiosmgdgmo gemgga3ogbioo;
K- 330l Gotdmgaboty dsbommol Lobm@ogol gegmgbol dsbabosmgdgemo jmgzoiagbdos;
K; - 3orsbsdndoggdgme dsbsgmols bmdgdol dsbsbiosmgdgmo gmgnoonb@ns;
B - gorsthzotiogol Lodsmmgby wsdmgorgdamgdel gmgagaghdes;
G - Lodbbgeggo webapaadal Fatdopmdss, (5/1&01;_
bg8membodbyma 39503096900 360Tgbgmmdgda bafadml 3636098 90
3o6mdgdaliongols Foddmmagbomos (3bGogn 6.1-3o.

3bGama 6.1
35615398 Gals d60d369emmds
3563380l obabgmmads smbodgbs 708> i
1 2 3 4
dsbagado 3@l gesjigeol Fomo K, 0,05 0,01
3830l dogmasbo  dsbowsb 396 berymdo
asesbmmo dB3éel Goma K2 0,03 0,01
9360l {568 J36sby Jotrols boRJscrols
K3 1,2 1.2
39gemgbols Hobaboamgbgqn 37950300680
396939 %aamdaao\:a&nhoaaﬁ Lafgmdals
©3(33007)656056md0ls dsbalosmgdgemo K4 1,0 1,0
473804300680
dBacol  FohdmJdbaby dsbagmols bobe@ogols K 0.01 0.01
393egbol dsbsbosmgdama jmaa0(309680 ’ ’ ’
3.5;@1»3'3'3.53363;:30 dsbsgmols bmdgdols K 0.6 0
dsbsbnsmgdamo 309500300680 ? ’ - 0.6
3B 300m301 hnaoqgggg"og gg‘samdnr\ogb-agabnh
6 B 0,4 0,4
98030080
La3bbghggo wsbswastols Fatrdswmdss, 35/bm G 25 25

b93c90bodbm gmGIgmaBo bamsbawm 3609369rmmdgdol RslBom Bogomgdon:
J30Bobmgols:

Magy= 0,05 x0,03x 1,2 x 1,0x 0,01 x 0,6 x 25 x 0,4 x 10° /3600 = 0,030 5/§73
Gagy= 0,030 x 1600 x 3600 /10°= 0,173 #/Fgmo

\




po6mobogol:

Mgg,= 0,01x0,01x1,2x1,0x 0,01 x 0,6 x 25 x 0,4 x 10° /3600 = 0,002 a/§d
Gag,= 0,002 x 1600 x 3600 /1 0°=0,012 &/Fgemo

Tgo:

Mgs,= 0,032 3/G3

Gagg= 0,1858/aemo

B). 3B3tob ae56J3g30b 3633600 0Byt mmo 3sbamgdol Lafgmdorsb (3eg6d3ggol Fyste
3-7)

06gOH o dsbagmgdol  (J308s, mmGEo)  Lofymdagesh 3ddmgmgomo  I3mal  Hamgbmds
0363960893 gmGInmon: |
Mg, = K3 x Ks x K¢ x K7xqxf /3,
basy

K3- 38300l FohB8emgdbsty Jotol LoBjstrol zegmabols dsBggbgdgmo 3980605680

Ks - 3360b 79630 Jdbaty dsbagmols bobm@ogol gogemgbols doRggbadgmo 3095303006800;

Ks - wobolsfymdgdgmo  dsbamols bgmadotol  3Gogomols  dshzgbgdnmo 395030968809,

396g9c3b 1,3-s6 1,6-3c0;

K;- 3.);3.)1:.)83'8.)33&3;:30 dsbogmols bedgdols dsbslosomgdgmo 39503096809,

q - 35360l Googdol obHblogmdss 1 82 gsjBonmo Bgmsdomol gstomdopss, 3/d% §3;

f - 33839M030L  Bgoadomos, a2,

spbodbgmo  gmgmooghBgdol 360dgbgmmdgdo  LafeGdml 3063698 mmo 306mdgdabogols
Gomdmmygbomas 3bGom 6.2-3o.

3bGogmo 6.2
35613398 M0ls d603369mmds
33683980l absbgrmads smbadgbs 408 coxee
dHacob §o63mJabs by Jo6als BoBjecols K 12 12
393mabols dsbabosmgdgmo 37980309680 8 ’ ’
dBzeals §o63emJ3bsTy dolagmols boberagal
samabols 3a'boboamabaqn 3795300309680 Ks 0,01 0,01
Qabab-&%’&m&a&mn 3.)1&);201} ?}3(3.)3060\) K 1.45 1.45
3Gmx0mols dsbsboscmgdqmo 37950309680 9 ’ *
3003bsdnds3939ma . Babsgmols Bmagdols K 06 06
dsbabiosmadngma 3950300680 ’ ’ ’
IBghol  Gopogdol  ob®Blogmdss 1 @2
SJBonco Bgwmsdools gshmedops, a/3% §a q 012 0,002
33396980l Basdotas, 82 f 200 200

%3301.5;350'85‘3@ BrGdnemaBo bamaﬁan %nﬂaﬂmm&a&ob Ralidoom dogomado:
dao'anba)aob:

Mag,= 1,2 0,01 x 1,45 x 0,6 x 0,002 x 200 = 0,0042 PAL




Gys,= 0,0042 x 1600 x 3600 /10° = 0,024 #/Fgemo
podpobogol:

My, = 1,2% 0,01 x 1,45 x 0,6 x 0,002 x 200 = 0,0042 3/§8
Gagy= 0,0042 x 1600 x 3600 /10° = 0,024 &/Fgemo

Lmem:

Myg,= 0,0084 5/§8

Gaéa_= 0,048 /G gme

o). 38300b 2o56d3g30L 96336080 obghFmmo dsbomgdol mabBgto  HOBLImGB MG
3oessegomgdolsl (3eptdaggel Fgste a-8)
abgmee  Bsbagmgdol mgbBne HEBLImGHmGn gswsseaamgdolsl Hatol asgtizazgdo
03635608988 gm0
Magy= Wagp X Keyy x BxLx10° /3,
Logos(y
W-aﬂa — Jog6ol Bgdgtigom ae8mfagnmo dPatel bzgotomn aeptizgges s Homos 3 b 10
WP
Kesy — 6ommgnmols sd1(39539%0  gmgBogaghBos s Bmmos 0,18-0k;
B — mgb@ol Logsbgs, 8;
L= mabBob xs3960 Logédgs, 9.
88 gmGINmsBo Lsmsbspem 360d36gmmdgdal Asldoo dngomgdon:
Mgs,= 3% 107 x 0,1 x 0,5x25x10°=0,038 /3
Gag,= 0,038 x 1600 x 3600 /10°=0,219 /Yoo



3) bobBodFgsmdsegdol aemdzggol  $63sado  doghpdo boggage  gbydgnetigdowsb
(398030308 Fgsctm a-10)

dodmBol  bogego  Gnbyhzme@gdomsb  BobBodfgsmdsmgdol  asgtigazel  $6a3¢0de
Bommganos  dogmdol  LobotB  msbsmastomsb  (3-3)  aeytisgame  6bBomfgemdamgdals

Gompgbmdols sbg3s608abs, sdoghma:
M= 0,386 a/va
G= 2223 /fgero

) 3330l gem@iagael  96ast0do  dgBmbab 33%6dol  bommlbgdBo  (399g6ob
Bsgotrogalsls (3-11).

LofshdmBo gmbiombotigdl dgBmbol 3gs6d0 Lssmdo 6 3 3gBmbol Fatdsmdon. fmontswe
393mbs33900 3gBmbols Gammabeds Bgswaghl 9600 33-1 36 22426 §-L, Gologobsg bLagodms
32648 (3999680, 67208 J30ds, 106183 cméwo, 18248, Fyomo). 3B3¢0l gogmd3g3eb swyomo
5336 Lomebgdoms (398060l  Rahgodmgolisl. Lafa@Bml  goshbos 308 o 508  Bgzermdol
bogmmlgdo, Gmdmgday  smFnGgomos Jbergogmosbo  gamBGgdom 98%-0s60  IB360L  3sfdgbrals
159J8 000,  Gorgsb gmggmo 1 Bmbs (3985680b  gsmazotogalst  Lomelgdde  3efdFbrol
39698y gsdmogmas 0,833 3960, sBomd Bgtol Fmondo gen®isgzs 39Fagbwol gamgdy Howmo
ogbgds:

G= 3264 x 0,8 /103 = 2,611/Fgmo

borgmer 98%-0060 20§8960l Fgdraa:

G= 2,611 x 0,02 = 0,052%/Fgemo

369300 Gsbl3meBopst  gedmlmmo 306339038 39Mbstggzel  dmpmmmds  befahdml
Jotemdgdolingol  Fgeanbl 0,533/9'3-15, bogme  s06359638390656930L  bogeedo  Ledmemm
6395 ®Geoss 8,2 3/33, 35806 383tol Gudnto asnédgzol ob@gbliogmds gefidgbeol  askgdyg
Bomos! :

M= 82 x0,5 = 4,13/§3

bergmer 98%-00b0 98§8960l Bgdrna:

M= 4,1 x 0,02 = 0,082,/Fa.

d) 330l on@izgzol $633¢0T0 dgBmbB8hgz0msb (gt dzgzol Fystm a-12)

3m6g89380  goggm 1 Hmbs dgBmbol  Gotdmgdoliol  sBdmbggdmBa  308magmgs 0,05
33/Bmbaby.  Gowgsb  dgBmBBgBegzel  Foddipmds Fmmos 14 @H/lm-To, somd  asgaizgzel
o6®gBlagmdgdo Bglbsdsdolog Bmogm ofgds:

M =14.0x0,05x1000/3600=0.19444 »/G3.



G = 0.19444x 1600 x 10° x 3600 =1.120 &/ Fam.
Loorabsz  (3039680L  Batol  3Gmpgbdamo  Bglsmpgbemmdss  7/43x100=16 %, s8ogmd
359333030 0bBgblogmdgde Bglsdsdolse Hmmo ofbgds:
36w03067mo  3zg@o:
Mae; =0.19444x0,84=0,1633 »/fs.
Gagy = 1.120 x 0,84=0.941 /Ggem.
(3999680L 3B 3960:
Mg, =0.19444x0,16=0,0311 a/fs.
Gagy = 1.120x 0,16=0,179 8/Fgem.

doBoborady gagme 3en@dzagal Fystimmsb 3°80J303000L %9360 abEBLogmdgde Fglsdsdolisr
&omo 0gbgds:
368063360 383960

M=2.5915 »/fa. G=14.823 #/Fgm.

Bo6ol_dB3960
M=0.1131 /§8.  G=0.231 @/Gom.

6sbB06Fgsmdamgdo;
M=0.7745 /§3.  G=4.460 /Fm.

sbeBols m6gsbao;

39b90G030 sato - M=0.5840 »/f3.
G=3.363 #/Fqm.

6sbB0ts630:

dbgdngo sato - M=1.3849 a/fa.
G =7.977 &/Fgem.

ﬁah'anﬁmﬁg‘sﬁgn;
635366030 3060

G=1868.800 8/ gem.

[
ha



